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This article describes an ether that is not autonomous or entrained in velocity.  Instead of entraining the 

ether a celestial body absorbs a very small amount of ether particles passing through the body.  This causes a 
very small net velocity in the average value of all particles velocities.  The ether gets a small velocity in direction 
towards the body. This generated ether-wind follows the body like a shadow and causes gravity.  Spherical 
symmetry means that one body is not decelerated by its own field.  However, two bodies disturb the symmetry 
to each other and are therefore pushed in direction towards each other.  The generated ether-wind causes gravi-
ty. The ether particles move with the speed c and can also transfer light.  The ether particles do not collide with 
each other and the ether is not a gas but a special state of aggregation.  Light contains information that, together 
with the ether can interchange energy with matter.  We cannot know if this energy comes from light or from the 
ether. In this theory light is waves and ether is particles. 

 

1. Background 

Stellar aberration, Michelson and Morley’s tests and Sagnac 
effect are the most important phenomena in relation to the theory 
of special relativity. However, the interpretations of these phe-
nomena are not clear and unambiguous. The mechanism behind 
gravity is not known. Theoretical physics has therefore been in a 
state of uncertainty for many decades. Many questions without 
answers imply a need for analyzing the most basic phenomena in 
physics. Due to many errors it can be difficult to see the first, and 
therefore most important, error. It is therefore very important 
that we look backwards in time far enough to see the first and 
most important error. 

2. The Motion of Light 

Maxwell assumed the existence of an ether and probably also 
was aware of the fact that his theory was not complete. Maxwell 
started with two first order differential equations, and then 
solved one differential equation of second order. The general 
solution ct represents general properties of the ether. However, 
regarding the ether’s state of motion in point r


 we can have a 

particular solution  v r


, representing the local motion of the 

ether.   v r


 is constant in relation to time t. The complete solu-

tion is therefore   dt c v r
 

. Wishful thinking by Lorentz pro-

duced the solution  tc v
 

 and Einstein’s solution tc


 is even 

worse. The more general third option has not been very popular. 
One reason is a wrong interpretation of stellar aberration, as we 
will later see. 

Another reason can perhaps be a misunderstanding of Oc-
cam’s razor. Einstein can perhaps have assumed   0v r


 to be 

the simplest solution, but this solution cannot be included logi-
cally. It is not correct to conclude impossible experiment, and not 
existent ether, from Michelson’s many failures. Lorentz’ idea, 
that   constv r


, is also wishful thinking and  v r


 cannot be 

represented by a frame. Therefore we have to accept the only 
remaining alternative, that  v r


 is a vector field. The general 

solution tc


 represents only general properties existing every-

where in space. We must also regard local conditions in the ether, 
and these conditions are represented by the ether-wind  v r


. 

The correct solution is therefore   dt c v r
 

. This interpreta-

tion is the simplest interpretation in a physical perspective. A use-
less debate regarding the ether’s existence has dominated over a 
more important debate regarding the state of motion of the ether. 
The question is not frame or no frame, but frame or field. 

Michelson predicted the two-way speed of light to be propor-

tional to 21   ( v c  ; v is ether-wind). Michelson stated that 

he could detect this very small effect by using as a reference an 
equipment equal to the measuring equipment but oriented or-
thogonal to the measuring equipment. Michelson assumed no 
effect in the reference arm transverse to ether-wind. Stokes ob-
jected to this idea and stated that an effect in the reference arm 

would be 21  ,	or	about	half	the	change	in	the	measuring	arm.	

Stokes	idea	was	accepted	by	most	scientists,	but	not	by	Michelson.	
Stokes	derived	his	effect	by	means	of	Pythagoras’	 theorem.	Stokes	
derivation	was	wrong.	

Stokes idea cannot be united with the wave model for light. 
According to the wave model for light, speed c must be constant 
in relation to the ether’s state of motion and orthogonal to the 
wave front. The waving is a behavior inside the ether without 
knowledge of the ether’s state of motion, and this waving is de-
fined by the medium. The motion of light must therefore be de-
scribed as a vector sum  c v r

 
. This follows from the fact that 

transverse ether-wind has the same effect all over the wave front 
and wave front normal is conserved in relation to transverse 
ether-wind. The wave fronts in an interferometer are always par-
allel to the mirrors in the equipment, and interferometers are 
blind to transverse ether-wind. This means that only one compo-
nent in the ether-wind has relevance in the interferometer. The 

interferometer detects therefore   1 cv cc r
 

. Here cv  is com-

ponent in v parallel to c. Transverse ether-wind cannot bend the 
wave fronts. Such bending is possible only by a gradient in cv . 

This is a very important conclusion and we can conclude that 
Michelson was right and Stokes was wrong. Transverse ether-
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wind cannot reduce light speed. The vector sum of c


 and  v r


 

would be of interest only if we wanted to detect the direction of a 
focused beam, but in interferometers and telescopes it is the 
normal to the wave fronts inside the beam that is relevant. 

Einstein inherited Stokes mistake and used this error to moti-
vate time dilation. The theory of special relativity is therefore 
based on a wrong idea by Stokes, and not only ideas from 
Poincarè and Lorentz. The concept time dilation has also been 
used to explain slowing phenomena in atomic clocks. These ef-
fects are of second order in v/c and also explainable by a mechan-
ical process inside the clocks, as we will later see. This interpreta-
tion is analogous to the effect searched by Michelson and Morley. 
This means a physical property of clocks instead of a metaphysi-
cal concept in time itself. 

3. Stellar Aberration 

Analogous to how interferometers and lasers define the nor-
mal to the wave fronts a telescope detects the normal to the wave 
fronts. The telescopes are therefore also blind to transverse ether-
wind. This means that stellar aberration cannot tell us anything 
about the ether-wind. Instead stellar aberration can tell us about 
our own state of motion. When light’s wave vector c is trans-
formed into the frame of the observer, moving with transverse 
speed u, the apparent direction of light is changed an angle 

 arctan u c . This is independent of transverse ether-wind v. This 

means that we can explain stellar aberration for light waves by 
the same model that once was used for light particles, the so 
called raindrop effect. The effect of observer motion in relation to 
a moving phenomenon must be the same independent of if the 
phenomenon is a wave or a particle. Explanations of stellar aber-
ration by means of Fresnel drag are false. See [1]. Stellar aberra-
tion cannot refute any ether model. 

Airy’s test with water in a telescope failed. When the wave 
vector of light c is transformed into the frame of the observer, 
moving with the transverse speed u, apparent direction of light is 
changed an angle  arctan u c . Apparent normal to the wave 

front is then in line with the telescope, and water cannot change 
anything. 

4. Michelson and Morley 

Michelson wanted to detect a second order effect of the ether-
wind by sending light forth and back between mirrors. The at-
oms in a crystal control their separations by the effects that they 
impose on the surrounding ether. It is not easy to see any other 
possibility. The position of one atom is therefore communicated 
to its neighbor by means of the ether. The atoms are in a two-way 
communication by means of the ether. Positional changes are 
transformed with the speed c, just like light waves, since light 
waves are also changes in the ether. Communication between 
atoms is simultaneous in both directions. The communication 
between Michelson’s mirrors is sequential in the two directions. 
We can nevertheless assume the same effect in the two cases, 
since the ether-wind v⪡c, the wave velocity. The reduction in 
two-way light speed is therefore equal to the reduction in separa-
tion of atoms in the crystal. Since this separation defines the sep-
aration between mirrors in the equipment we can conclude that 

the time for two-way communication is not changed. This fact 
explains that Michelson failed due to a contraction of physical 
objects. This contraction is two times the effect on space in the 
theory of relativity. However, this effect is not combined with 
dilation of time. 

5. Sagnac Effect 

Calculations of the Sagnac effect have commonly been done 
in the rotating frame of the equipment. This can depend on influ-
ences from Michelson and Morley’s tests. Since light is a motion 
in one dimension we must focus on light and not on equipment. 
The equipment changes the length of the light path, and not the 
speed of light. Therefore, the not rotating frame is the correct 
frame for calculation of the Sagnac effect. In this frame the se-
cond order term disappears. This fact may not be important, but 
it is very important that we have focus on light, and not on 
equipment. Mistake on this point is the reason to the fact that 
Sagnac effect has been described by a rotating area. This interpre-
tation is wrong, since no light exists in that area. Light exists only 
on the line enclosing the area. Sagnac effect must therefore be 
described by a translating line. Sagnac effect is caused by transla-
tion, and closing the line was needed only for detection of the ef-
fect, and caused by the synchronization problem. This error in 
classification is the reason to the fact that Sagnac effect has not 
been clearly explained after 100 years. Many scientists have tried 
about 20 different theories to explain the effect. This is described 
in [2]. 

Interferometers compare phase between two parallel wave 
fronts. Interferometers detect therefore a difference in one di-
mension only. This limitation means that only translation can be 
detected. The physically correct definition of the time delay in 
Sagnac effect is therefore 2vL/c2 with v as tangential velocity of a 
circular line of circumference L. The alternative expression 
4ΩA/c2 is only correct in a mathematical sense (Ω is angular ve-
locity and A is area). 

The classification of Sagnac effect as a translational effect is 
very important. This means that the effect observed in a rotating 
circle also exists in a straight line of length L, moving with the 
speed (in relation to the ether)  v in its own direction. The effect is 
vL/c2 (one way). The ether-wind is detected. Evidence for this 
translational effect is found in the global positioning system 
(GPS). Compensation for the effect is done when time stations on 
Earth are compared. GPS measures position based on one way 
propagation of microwave signals. This means that the synchro-
nization problem is circumvented. GPS is a very good test bed 
for special relativity due to the very high precision in the system. 
The GPS experiences indicate that the state of motion of the ether 
depends on our planet’s translation, but not on its rotation. 
However we will later see that the ether-wind has a value that is 
much smaller than the speed on individual ether particles. There-
fore we find that the ether is not entrained, only the ether-wind 
is. Disregarding the validity of Sagnac effect in translational situ-
ations produces a timing error. This problem is explained away 
as a production of ‘local’ time. According to H Nordenson [3] 
local time disproves the theory of relativity. We do not need 
twins. Nordenson also said that demanding a complete substi-
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tute before abolishing Einstein’s theory of relativity is grotesque 
logic. 

6. Ether-Wind Detection 

An ether-wind inside the wave front of light, and transverse 
in relation to propagation, cannot change the orientation of the 
wave front. A telescope detects the normal to the wave front. 
Therefore, stellar aberration cannot tell us anything about the 
state of motion of the ether. Michelson and Morley’s method fails 
to detect a second order effect of the ether-wind by means of a 
two-way communication between mirrors. The reason is that a 
two-way communication also exists between atoms in crystals 
and the searched effect thereby is compensated by a reduction of 
physical length in the construction used. Michelson and Morley’s 
method can therefore not tell us anything about the ether’s state 
of motion. A second order effect of the same kind is instead ob-
served in atomic clocks. However, Sagnac effect is a translational 
effect distributed along a line. Sagnac effect is therefore a first 
order, longitudinal effect of an ether-wind.  

7. Structure of Light 

There are lots of phenomena demonstrating that light is a 
wave motion. The particle model for light is supported only by 
the stimulated emission of electrons in the photoelectric effect 
and in the Compton effect. However, these two phenomena can 
also be explained by electromagnetic waves interacting with elec-
tron particles. The fact that higher frequencies in monochrome 
light can produce faster photo electrons can be explained by the 
fact that these electrons are faster before emission also. The emis-
sion can be caused by an interference between frequency in light 
waves and frequency in electron’s orbiting. In the Compton effect 
we can assume X-ray wave packets to be concentrated in time 
and space and thereby mimic the behavior of a particle. We con-
clude that photoelectric effect and Compton effect can both be 
explained by particle model as well as wave model for light. The-
se two phenomena are therefore of no use regarding model for 
light. 

Electromagnetic waves interact with slow electron particles in 
atomic clocks and with very fast electrons in the Mössbauer ef-
fect. The Crooke’s radiometer can help us to see the model for 
light. If the evacuation of the radiometer is very well done the 
recoil from photoelectrons can be expected to dominate over the 
effect from remaining gas molecules. The direction of the radi-
ometer’s rotation can thereby tell us regarding wave or particle 
model for light. This is described in [4]. 

Since we have lots of evidences for the wave model for light 
and no certain evidence for the particle model we must conclude 
that light is a wave motion. Two light waves in opposite phase 
can produce zero light and demonstrate destructive superposi-
tion. This fact is apparently in conflict with the law of energy 
conservation. We have therefore reason to ask if light really can 
transport energy and contain mass. Since light, as well as ether, 
are not observable we draw all our conclusions from observa-
tions on charged particles emitting and absorbing light. Energy 
in charged particles changes when light is absorbed or emitted. 
Since our experience is limited to material effects we do not 
know if matter interacts with light or with ether. We do not know 

if energy exists in light. However, the existence of gravity implies 
that the ether has mass and thereby energy. It is therefore possi-
ble that light only contains information needed to allow an ener-
gy interchange between ether and matter. If this is true the ex-
pressions for energy hf and momentum hf/c may refer to the ether 
instead of to light. Only f refers to light since interference de-
mands f≈flight. 

8. Structure of Ether 

Newton’s and Einstein’s theories about gravity describe only 
effects of gravity and say nothing about the cause of gravity. 
Fatio and Le Sage have described a particle model for gravity 
that also explains the cause of gravity. Particles with very high 
speed are moving in all directions. A very small part of these 
particles are absorbed in a celestial body, like our planet, and 
causes internal heating in the body. Due to this absorption fewer 
particles are leaving the body than are approaching it. The aver-
age value of all particle velocities has therefore a velocity that is 
small in relation to individual particle velocity. This means that 
the ether is falling towards the body and this velocity is the cause 
of gravity. In a universe with only one body frictional forces in-
side the body add up to zero due to spherical symmetry, and the 
body can move without being decelerated by friction. In a uni-
verse with two bodies these bodies are disturbing the symmetry 
to each other. The bodies are therefore pushed in direction to-
wards each other. This means pushing gravity. If individual par-
ticle velocities are assumed to be c we can explain propagation of 
light as well as of gravity. This interpretation does not mean that 
the ether in itself is entrained, but a property of the ether, namely 
the ether-wind, is entrained. Gravity, and ether-wind, are follow-
ing the body like shadows. 

It is important to notice that we have found an ether model 
that can explain how the ether can push two bodies towards each 
other but nevertheless let one body move without being deceler-
ated by the ether. Although gravity is a relation among moving 
particles it is a condition that is static in relation to the body gen-
erating gravity. Since gravity in itself does not move the observ-
er’s state of motion is irrelevant. We can therefore not observe 
aberration in gravity from our sun. No aberration in gravity is 
also an evidence against the wave model for gravity since it 
would demand enormous speed of propagation. However chang-
es in gravity can move with a speed c. Gravitational shielding 
from the Moon during an eclipse should therefore produce an 
aberration in shielding equal to optical aberration, namely 
≈3×10˗6 radians due to orbiting with ≈1 km/s. Unfortunately, 
gravitational shielding is a very small effect. 

A comparison between Newton’s and Le Sage’s gravities is 
interesting. To do this we can first express Newton’s gravity in a 
more general form. We can use an integration of density divided 
by square of distance over volume. The comparison reveals a 
small difference: An exponential function representing gravita-
tional shielding is missing in Newton’s model. Gravitational 
shielding is a very small effect and very difficult to detect. An 
approximation of shielding as not existent can therefore render a 
unification between Newton and Le Sage in most practical cases. 
Newton makes Le Sage’s theory usable and Le Sage explains 
Newton’s theory. 
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9. The Ether-Wind 

Since gravity and ether-wind are produced by attenuation in 
matter inside a celestial body like our planet we can conclude 
that rotation of the body is approximately irrelevant in relation to 
gravity and ether-wind due to spherical symmetry in the density 
function of the body. Rotational symmetry follows from the fact 
that gravity in itself produces spherical symmetry in not rotating 
bodies. The irrelevance of planetary rotation in relation to the 
state of motion of the ether is supported by the experiences from 
the GPS system. We have seen why the ether-wind is in line with 
gravity but we do not know the magnitude of the ether-wind. A 
preliminary hypothesis was suggested in [4]. It was thereby as-
sumed that the vertical ether-wind is equal to the speed of a sat-
ellite in circular orbit at the same altitude as the ether-wind. This 
assumption gave a value of 7.91 km/s near our planet, and 3.87 
km/s in a GPS satellite. Dr C C Su has described a method by 
which this vertical ether-wind can be measured. A horizontal 
ether-wind of max 0.465 km/s due to planetary rotation can also 
be measured. This method is described in [5], and also in [4]. 

The factual slowing of clocks in the GPS system can be ex-
plained without assuming dilation of time. Instead the ether-
wind can be assumed to affect the orbiting of the electrons in the 
atomic clocks. The ether-wind increases the time for a half period 
in one direction and decreases the time in opposite direction. 
This produces a second order effect of the ether-wind’s compo-
nent inside the plane of the electron orbits. This effect is of the 
same kind as the effect in the two light propagations in Michel-
son and Morley’s tests. The clock frequency becomes proportion-
al to (1˗β2) with β as v/c. This relation is valid for both vertical 
and horizontal ether-wind, since gravity is assumed to be caused 
by a vertical ether-wind. Instead of two models for time dilation 
we have only model for clock slowing. 

In Michelson and Morley’s tests one-way speed of light was 
assumed to be ∿(1±β) producing a two-way speed ∿(1˗β2). The 
electrons orbiting atomic kernels move with a speed u that is 
much smaller than light speed c. This fact does not exclude a 
possibility that u∿c, since u and c are defined by the same kind of 
differential equations. The two half periods in an electron’s orbit 
can be different in the same way as in Michelson and Morley’s 
experiment. The difference being the fact that the effect is not 
compensated in atomic clocks as is the fact in Michelson and 
Morley’s test. 

With earlier given values on vertical and horizontal ether-
wind on Earth and in a GPS satellite we can calculate the change 
in clock speed when a satellite is put into orbit. The small effect 
of Earth’ rotation is not considered. These values give an in-
creased clock speed of 38.5 µs/day. Satellites are assumed to be 
stabilized in direction towards the Earth with clocks orthogonal 
to this direction. This means maximum slowing due to vertical 
ether-wind (gravity). The satellite was assumed to not be stabi-
lized in relation to motion. Therefore contribution from horizon-
tal ether-wind (velocity) has been reduced by 50% due to satellite 
rotation. This value is found by taking the average of a squared 
cosine function. 

If the clock were oriented in line with gravity the contribution 
from vertical ether-wind would be zero. Instead the contribution 
from horizontal ether-wind is at maximum value. This calcula-

tion gives a decreased clock speed of 14.4 µs/day. This fact indi-
cates an easy way of testing this theory by changing clock orien-
tation. The alternative orientation means also independency of 
satellite rotation. 

10. The Wave or Particle Confusion 

According to the interpretations in this article stellar aberra-
tion and Michelson and Morley’s tests are useless in relation to 
the ether-wind. Instead a second order effect comparable to Mi-
chelson and Morley’s is observed in atomic clocks. A physical 
mechanism substitutes the metaphysical concept of time dilation. 
The Sagnac effect detects also an ether-wind by the first order 
translational effect in an interferometer sensitive in one dimen-
sion only. Light has thereby been described by the wave model 
only. To describe the ether we need only the particle model. 
Small and fast particles have been assumed to move in all direc-
tions. Light propagation has been described by the speed of indi-
vidual particles, and gravity by an asymmetry in the flow of par-
ticles. We therefore find that the interpretations presented here 
do not demand any wave or particle duality. These interpreta-
tions can indicate that the mean distance between ether particles 
is very small in relation to the wavelength for light. 

Since ether, as well as light, is not directly observable we have 
to draw conclusions about these two concepts from observations 
on charged particles. We thereby find that emission or absorption 
of light changes energy level in charged matter. All information 
about light comes from observation on matter and we do not 
know if energy in matter is interchanged with ether or with light. 
Since the ether can propagate the force of gravity the ether must 
have mass and energy, but we do not know if mass and energy 
exists in light. 

11. Wave Front Bending 

We have seen that ether-wind inside the wave front cannot 
bend the wave front and not explain stellar aberration. However 
wave front bending is possible due to a gradient in the longitu-
dinal component in the ether-wind. The observed bending of 
light near our sun can be explained in this way if we assume the 
falling ether radial to our sun. This ether-wind becomes equal to 
437 km/s according to the same assumption earlier done for our 
planet. For light tangential to our sun we first get a positive com-
ponent, and later a negative, from the ether-wind. Since the effect 
is strongest nearest to the Sun we get a bending first away from 
the Sun and later back to the same direction. The bending is not 
to the same position and we can calculate the difference as an 
integration of the gradient in longitudinal ether-wind vc. We can 
describe this as ∫׏vc(r)dr. 

A very, very rough estimate can be found since the vertical 
ether-wind of 1.46×10˗3×c produces a longitudinal component of 
about 10˗3×c, maximum value. Apparent size of the Sun is about 
10˗2 radians. We get an estimate in the order of 10˗5 radians as 
observed. This is described in [4]. A more accurate calculation 
should be done according to the earlier described integration. 

12. Summary 

An important property of this theory is that wave front bend-
ing cannot be produced by transverse ether-wind. Such bending 
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is possible only due to a gradient in the longitudinal component 
of the ether-wind. Since light is a wave motion we can describe it 
by the vector sum c+v(r). However, in telescopes and interferom-
eters only c(1+vc(r)/c) is relevant (vc is longitudinal component). 
Stokes was wrong when he reduced Michelson’s prediction by 
50%. Einstein reused the mistake and called it time dilation. 

The ether theory described here is based on Le Sage’s theory 
of gravity. Many ideas are in agreement to ideas from Petr Beck-
mann and van Flandern. Specific for this theory is that the speed 
of gravity particles is assumed to be c, the speed of light, which 
means that the ether can explain light propagation as well. Celes-
tial bodies, like our planet, absorb a very small part of passing 
ether particles. This fact produces an ether-wind many orders of 
magnitude smaller than light speed (falling ether), that causes 
gravity. The direction of the ether-wind is in line with gravity, 
but the magnitude of the ether-wind is not known. This means 
that the ether-wind, but not the ether itself, follows a celestial 
body just like the field of gravity. 

Telescopes detect the normal to the wave fronts and cannot 
tell us anything about the ether-wind inside these wave fronts. 
Stellar aberration reveals only observer’s own motion. Interfer-
ometers detect translational effect in one dimension longitudinal 
to light. Sagnac effect is therefore an important phenomenon 
regarding the ether’s state of motion. It is therefore very im-
portant to see that Sagnac effect is produced in a translating line 
and not in a rotating area. 

A second order effect of the ether-wind reduces the two-way 
speed of light. The same effect reduces the separation between 
atoms in a crystal and compensates therefore the speed effect by 
a contraction effect in the equipment used by Michelson and 
Morley. The time for two-way communication is therefore con-
stant. In atomic clocks orbiting electrons move faster in the direc-
tion of the ether-wind, and slower in opposite direction. This 
means that the component of the ether-wind inside the plane of 
the electrons’ orbits affects the speed of atomic clocks in a way 
comparable to the effect in Michelson and Morley’s test. There-
fore, the effect Michelson searched in vain is visible in atomic 
clocks. 

The ether model described here can explain why one body can 
move without being retarded by the ether although the ether can 
push two bodies in direction towards each other. Internal heating 
in celestial bodies is also explained. Since the force of gravity is 
stationary in relation to the source of gravity zero speed of gravi-
ty explains no aberration from our sun. The assumed speed c of 
gravity particles means that changes in gravity by shielding are 
propagating with the speed c. Unfortunately, these effects are 
probably too small to be detected. 

13. Discussion 

The theory of relativity has been debated for almost hundred 
years. However, the debate has mostly been concerning incon-
sistencies internal to the theory. In this article the focus is instead 
on the interpretations of observed phenomena. We have seen 
that many of the most important phenomena have alternative 
interpretations. Discussions on this subject have been focused on 
Einstein. It has therefore not been observed that the first, and 
therefore most important, error was produced by Stokes and 

only inherited by Einstein. Stokes introduced the idea that an 
ether-wind, blowing inside the wave front, can reduce the speed 
of light. In the theory presented here ether-wind and wave veloc-
ity add to each other like vectors. They become independent of 
each other when they are in a right angle to each other. There-
fore, Stokes was wrong when he reduced Michelson’s prediction 
by 50%. Einstein accepted this idea and called this effect time 
dilation. This mistake was an important ingredient in the abolish-
ing of the ether. After the introduction of general relativity theo-
ry Einstein tried to reintroduce the ether, but the mainstream of 
scientists refused. Since black energy and black matter are ac-
cepted concepts it is remarkable that black ether is still denied. 

Data from GPS satellites must be handled in a not rotating 
frame centered on our planet, but data from fix stars and pulsars 
must be handled in a not rotating frame centered on our sun. 
Therefore, every celestial body needs a frame of its own in its 
near neighborhood. This is an indication that these frames are 
not real, but only approximations to one single field dependent 
on the distribution of matter. These facts support the entrained 
ether-wind blowing in the direction of the force of gravity. Gravi-
ty is explained by the ether-wind, and we detect the ether-wind 
with our own bodies. 

The fact that interferometers and telescopes are blind to 
transverse ether-wind is important. This fact explains why stellar 
aberration is useless regarding the ether-wind. Michelson and 
Morley’s tests are also useless. The ether-wind is observable in 
Sagnac effect and in atomic clocks. In this theory two metaphysi-
cal phenomena in time have been substituted by one physical 
mechanism in clocks. A metaphysical phenomenon in space has 
also been substituted by a physical contraction of objects. 

The debate around modern physics seems to be dominated by 
binary logic. That is: does the ether exist or not and forgetting the 
next question: is the ether entrained or autonomous? The ether 
presented here is not autonomous and not entrained in itself. 
Instead two properties of the ether are entrained: gravity and 
ether-wind. We have also a kind of confusion regarding speeds: 
In this article the speed of gravity itself is zero (implying no aber-
ration). The ether-wind is v⪡c. The speed of light, individual 
ether particles and changes in gravity (shielding) is equal to c. 
The ether theory in this article contains no wave or particle con-
fusion. Light is waves and ether is particles. Reality of the ether 
means also that matter waves can be explained as an effect that a 
moving particle imposes on the ether. When a moving mass 
changes velocity its generated matter wave must also change. 
This change can consume energy and thereby explain inertia. A 
real ether can also explain internal planetary heating and black 
matter and black energy. A remarkable property of the ether de-
scribed here is its ability to impose forces on two bodies but not 
affect one single body.  

Perhaps this ether model can help us to explain destructive 
superposition also. The interchange of energy between light and 
charged particles can be an illusion. Instead we can have an in-
terchange between ether and charged particles, and light only be 
containing needed information. Polarization of ether particles is a 
possible representation of such information. This interpretation is 
possible since light and ether are not observable and all infor-
mation comes from observations on charged material particles. 
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The ether concept is very difficult, and it is remarkable that 
light from fix stars can move billions of light-years and still pre-
sent sharp images. Perhaps this can indicate that the ether has its 
own state of (no) aggregation since, apparently, ether particles do 
not collide with each other. Anyhow, the theory presented here 
can explain many phenomena, and is therefore suitable for test-
ing. Testing can easily be done by measuring vertical and hori-
zontal ether-wind by Dr Su’s method [5], by changing orientation 
of atomic clocks in GPS satellites and by calculating light bend-
ing near our sun as earlier described. However, the effect of grav-
itational shielding is probably too small to be observable. 

14. Conclusion 

The theory of special relativity was not a work of Lorentz and 
Poincaré alone. An important (and wrong) base for the theory 
was earlier provided by Stokes when he introduced the idea that 
an ether-wind transverse to the propagation of light can reduce 
the speed of light. Stokes’ reduction due to transverse effect is 
about half the value of Michelson’s longitudinal effect. Michelson 
never accepted Stokes’ idea and we have seen in this article that 
Stokes was wrong. However, Einstein accepted Stokes’ idea and 
called it time dilation. An evident slowing of atomic clocks in the 
GPS system is in this article explained by a physical mechanism 
inside the clocks. We do not need Stokes model. The ideas present-
ed here can be tested by changing orientation of clocks in the GPS satel-
lites. 

The ether described in this article is not autonomous and not 
entrained in itself. However, two properties of the ether are en-
trained: gravity and ether-wind blowing in the direction of gravi-

ty. These two properties follow a celestial body like shadows. 
The magnitude of the ether-wind near our planet is not known 
but estimated to be in the order of 10˗5 times the speed c, the 
speed of individual ether particles. The magnitude of this ether-
wind can be measured by a method described by Dr C C Su, [5]. The 
ether model described here does not need wave or particle dual-
ism and can explain why the ether can push two bodies towards 
each other but not impose any force on one single body. New-
ton’s theory of gravity can give us the ether-wind as well. 

The bending of light near our sun is not produced by trans-
verse ether-wind. Instead a gradient in longitudinal ether-wind 
can produce a bending effect in a wave front. This bending can be 
calculated by a method described in this article. 

The debate around the great confusion in modern physics has 
been focused too much on Einstein. Is he right or wrong? This 
narrow focus has obscured the fact Stokes made the first and 
most important error, and thereby fooled Einstein. 
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